
Question: 1 
   
An administrator is implementing LTO-5 drives in the backup solution. They plan to disable hardware 
data compression through their backup appliance. 
What is the maximum data rate that can be achieved? 
 
A. 80 MB/s 
B. 120 MB/s 
C. 140 MB/s 
D. 160 MB/s 
 

Answer: C     
 

Question: 2 
   
A server is experiencing issues with completing POST. The environment does not have a KVM or "Crash 
Cart" available to where the system halting. 
Which method can an administrator use to determine the first place to start troubleshooting? 
 
A. Run OpenManage Essential 
B. Check rear lights on the server chassis 
C. Run Repository 
D. Check iDRAC Post Code 
 

Answer: B     
 

Question: 3 
   
DRAG DROP 
A system administrator needs to install an operating system (OS) on a server that is in BIOS mode. What 
is the correct sequence of steps to set the server into BIOS mode? 



 
 

Answer:  
 

 
 

Question: 4 
 
What is an statement in reference to software RAID? 
 



A. Software RAID does not have any data integrity issues 
B. Software RAID requires a hardware license 
C. Software RAID is an additional cost 
D. Software RAID uses CPU resources 
 

Answer: D     
 

Question: 5 
   
What is a consideration for a hardware administrator who is physically is physically installing multiple 
servers into a rack? 
 
A. Observe load requirements specified in document for the switch 
B. Avoid unevenly loading the rack and creating a hazard 
C. Ensure that the server can connect to Windows updates 
D. Ensure that the associated UPS can also power the top-of rack switch 
 

Answer: A     
 


